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A person buys 100 cups at Rs 10 each one the way 10 cups break. He se'
the remaining cups at Rs 11 each. His loss percent is
TF ARE 100 FT TAF 10T X G@AAr g, T A 10 FITEZATA S T8
AT FT 11 T4X TA FT & I9AQT g1 ST THATT ITAAT
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A man buys 12 articles for Rs 12 and sells them at l
the rate of Rs 1.25 per article. His gain percentage
IS

/
TF AT 12 T § 12 &g @U<AT & 30X Sve 1.25 T3 via |
e # I 99T gl SHHT AT Ifaea g |

(1)20 M
'l'
(3) 15
CRER
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By selling 33 m. Cloth, a shopkeeper earns profit equivalent to ‘
selling price of 11 m. find his profit percentage? '

33 HieT FAT TAHL, TF TR 11 He F fOht T F T
AT AT FXAT &, SHHT AT TiAaqaT T 872

,
|
(1) 50% | W

(2) 30; (1Y
(3)38% ||
(4) 29% ‘




A house and a shop were sold for Rs 1 lakh each. In this
transaction, the house sale resulted into 20% loss whereas
the shop sale resulted into 20% profit. The entire transaction
resulted in

UF 91 R U T TAF UH 76 T9F | 997 T2 off) 39 9T «,
T T fasht § 20% THATT gl STt g1 fashl § 20% AT gem
R AT & TIRUMTHETET ?

b |

| (1)No loss no gain

| (2GeiofRs Tzt
! (3) Loss of Rs 1/12 lakh
(4) Loss of Rs 1/18 lakh
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By selling a table for Rs 350 instead of Rs 400, loss ‘ ‘
percent increases by 5% The cost price of the table is '
400 T F 1T 350 4T W UH WS 4F FY, g TaqqT 5% A
% STAT g A T ANT T &

(1) Rs 1050

(2) Rs 417.5(

(3) Rs 435
(4) Rs 1000
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A dishones milkman sei'lmilk at cost price but he mixes

7
z -]
water and earns 165% profit. Find the ratio to mixture and 1l
milk in the mixture?

T TEATH qEATAT 38 Fl FF o4 I 94T g, A ag a1 l |
e AaT & = 162% T T oSt Far & o Rvsror e g |
|l

T YT TATC?
lioa l
(2)

(3)6:5
4)7:7
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A shopkeeper sells an article at 20% profit. Had he bought it for 10% less and ‘
sold it for Rs 12 less, he would have earned 30% profit. What is the original

cost price?
TF THAIIL 20% ATH I TEH & 99qT 8 . I 394 39 10% F7
H g4 giaT X 39 12 ¥4 w9 | a9 =47 gam, a7 S¥ 30% AT

BT S AR T FAT 872

(2) Rs 500

(3) Rs 450

(4) Rs 600
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Vishal sold an article for Rs 1,740 and made 15 percent profit on the
discounted price he bought. If the discount was 20 percent, what was
the original price?

T A 1,740 TOX | TF IEG 44T 3L I G @< T RATAT =7 1<
15 wfdera ar FuTam IR g 20 giea o, v Tor Froa =1 2

(1) Rs 1900
(2) Rs 1600
(3) Rs 2400

(4) None of thede
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A eIIs a goods to B at a<profit of 20% and B sold it to C at loss of Y
25%. If C pays Rs 225 for it, what was the cost price for A?

A TF 9 B FT 20% & ATH I S9qT 8 3B ,CH 25% =+
TFAM ICC R AT AT 5 . A< € 59 forw 225 T3 T

WA FAT g, AT A % T AT o 4T 9172

(1) Rs 100

(2)Rs 125}

(3) Rs 250
(4)Rs 175
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The marked price of a radio is Rs 480. The shopkeepe
allows a discount of 10% and still gains 8% . If no

discount is allowed, find his gain percent.

T (R it e Faa 480 T0F 81 TR 10% <
zar g i orsft st 8% W FATATE . AR AR G AT

S LS e S L 2 L S L

(1) 10%
(2)[15% ]
(3) 20%
(4) 35%




5% more is gained by selling a cow for Rs 1010
than by selling it for Rs 1000 find the cost price of
the cow.

5% STTErh HIAST BIAT &, 3 T & 1000 T Y 318
1010 T9 § =T STC, AT 7 HoF 1T Y ?

i ‘.
Q|

| |

(1
(2) Rs 150
(3) Rs 125

(4) None of these




Nikita bought 30 kg of wheat at the rate of Rs 9.50 per kg and 40 kg of
wheat at the rate Rs 8.50 per kg, then. She sold the mixture at the rate of

Rs 8.90 per kg ,then find the profit or loss in the transaction ?
fafaar 9 30 faar g 9.50 w93 wia fFT 3 40 T Rs 8.50 wia fhemr it 3T &
GO S99 fAAor #y 8.90 T wia fFeiy it A 9= faAqr, A9_T 4S9 T AW

T FHT AT L ?
(1) Rs 2 loss

(2) Rs 7 loss
(3) Rs 2 profit
4) Rs 7 profit




After selling an article for Rs 1060 a shopkeeper earns
20% more profit than the loss incurred after selling the
article at Rs 950.

1060 TIT § TFH TE 97 & q1q AT 950 TIF | 49 &

9T §T THATH T TAT A 20% AT HATEHT raT gl av 77 T

ATT HL?
(1) Rs1000]
(2) Rs 1100

(3) Rs 950
(4) Rs 900




A man purchased a book and a pen for Rs. 390. He sells
the book at 10% profit and the pen at 15% profit. If he earns

a profit of Rs 51.50, then find the difference between their

C.P.

T AedT 7 390 T | UH fharer iz 9« @< 98 10% &1

U= IEqF a9dT g X 15% ATH 9 FAH. T a8 51.50 T4 FT

ATH FHTAT &, AT FT [T FTATR ? (1) 100
(2) 105
3) 107




A man purchased some articles for Rs 5400. He sells g rd

of them at 15% profit. At what profit percent did he sell the
remaining to obtain an overall profit of 12%.

T ASHT 7 5400 T4 | Fg ATHTT @0 S8 4 2/3 15%
ATH G A9AT 5. T T 12% ATH YTH FHLA o {orT qreht i favae
gfaerd AT X a4 ?

(1) 5%

2) 4%

(4) 7%
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A man sells his goods at 44% loss. He used 30% Iess ‘
weight. Find his profit or loss%? '
T {6 qe Dl 44 % FHT I 44T § 3T T § 30% FH
AAAT & , AT SHRT ATH JT ZIAT TTQLqT 1A

(1) 30%
2) 22%

(4) 25%




oranges for Rs 1. How many for Rs 1 should he sell to
gain 25% profit.

TH ARHT T 25 G 1 TR T X Y Ga @ a8 25% ATH
g F3 & forw 1 TUT & fohaw s= 91w 2.




\.' By how much percentage a shopkeeper marked his goods above its
C.P so that by giving a discount of 20%, a man gains 10% profit?

FhaeT TET FX TR FT ToF SATha FAT ATRT HF ToF & a1t 20% FT e
IHLSH 10% FTATH BY ?

pri% |

(2)36%%

(3)38%%
(4) 392

——




A shopkeeper gives 1 item free with every 15 items
and a discount of 4% is also offered to the trader and
the shopkeeper still gains 35% profit. Find the ratio of

C.P.to M.P.?
TF THIIL L 15 T & 919 1 T {FT a7 & M 4% *¥ gz
aﬂrwﬁwﬁsﬁ%%wm%%m‘rmwaﬁt sifera

T T AgITa?
(2)1:3
(3)3:5
(4)3:7




A shopkeeper marks his goods 20% above his

cost price and gives 15% discount of the marked
price. Find his gain%

TF THA aeq D 20% WG g 9 fe FRfrma sar g
, AT FRIeAa G5 #T 15% YE AT 8. AT ATH% FAT WM ?

(2% __]

(2) 3%
(3) 4%
(4) 102%

T —
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Questlon of the

A man purchased a book ang aypen for rs 25800 .he sold the
book at 13% profit and the pen at 17% profit .if he sold the

book at 17% profit and pen at 13% profit ,he would have ’ '
I8 earn 80 rupee more ,then find their cost price ? I |
. @amﬁ%rzsaoo Eﬁ%ﬁq@ﬁmwaﬂ'{@waﬁ?&

1 ST 13% AT I TEI =T AT FAF 17% FTSH T30 397
1l 17% TS 9 FAw AR TEF 13% 79 9 AT, 97 9 80 T

| erfere srfsta war, e St @ =1 w%?







